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WIER FHMOFEE= B L ECLE - EMRTE (E3R)

% g - AKTiE Bifr B 2 B i & #B w E
EEIEE 26,138, 684
FiEIEE 3,954,135 + 7,613,483 11,567,618
HBEREE GD 1,553,404 + 2,103,706 + 297,025 3,954,135
HBERHE (BLE) 1,553, 404
HBERER (F) 27,250,089 x 7.72% ((6.07% x1.00 +1.50%) x 1.02) 2,103, 706
BERERER 27,250,089 x 1.09% 297, 025
Hingag 30,092,819 x 25.30% ((23.54% +1.02%) x 1.03) 7,613, 483
e i 26,138,684 + 11,567,618 37,706, 302
—REEEZ 37,706,302 x 19.21% (19.21% x 1.00) — 4,764 7,238,616
RFIIRELE 37,706,302 x 0.04% 15, 082
T &l 37,706,302 + 7,238,616 + 15,082 44,960, 000
HBETEALE 44,960,000 x 10.00% 4,496, 000
FRIERE 44,960,000 + 4,496, 000 49, 456, 000




BEANRE SFN64EE =5t T P ELALE B T3 (FEI3R)

£ g - AKTiE B H = i & 8 m =

BEEISE 26, 138, 684
fRE& (-10m) 26, 138, 684
T 26, 138, 684
TREERE - B 26, 138, 684
REXHWHE 10, 650, 140
1 RELHHE 4,852.00 2,195 10, 650, 140

m 3
R ITHERA - Efk 15, 488, 544
2 EAO-17) 4,609. 00 232.6 1,072, 053

m 3
3 LRYEER 4,609. 00 3,000 13, 827, 000

m 3
4 i 4,609. 00 127.9 589, 491

m 3
HEBREE FEL) 1,553, 404
HBRZE 1,553, 404
EXBERHLEESRE 1,111, 405
REX® 1,111, 405
5 NhiER 1.00 467, 325 467, 325

=
6 Bz XNy VESH 1.00 524, 880 524, 880

=
T 8RNy IEE 2.00 59, 600 119, 200

=
2eE 441,999
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% L] His - BAIKTHE BfL - B ® % m =
TEXE 441,999
8 XBHEERE 1.00 441,999 441,999
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=1
& (RELRHE 350m3 L) (350m 3)
%4 7 R - AR R BAf = B i & # # B &
HEER
A 1.000 30, 160. 00 30, 160
H%EEE
A 1.000 26, 620. 00 26, 620
EEFEEE
A 1.000 22, 780. 00 22,780
BHEE
A 1.000 213, 269. 00 213, 269
ERlEoE &
A 1.000 108, 307. 00 108, 307
&b 4t E£RIK BHEZ2A D)
t 10. 500 31, 500. 00 330, 750
P TR 2RD%
% 5. 000 731, 886. 00 36, 594
& %85 - 350.00m 3 2,195. 00 768, 480
&S :2
B H : FEAO-R) Tm3%Y
% E7 R - AR R BAf = B i & # & B =
A1)
m3 1.000 232.6 232.6
& it E%8H :1.00m 3 232.6 232.6
&S :3
L TRYEER 100m3% 1 (100m 3)
% 7 R - AR R BAf = B i & # # B =
T T 5wy EER 10t%&
A 5. 000 60, 018. 00 300, 090
& it %85 - 100.00m 3 3,000. 00 300, 090
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5:4
ZFR . Bih Tm3&HY
%4 7 R - BIRTE BARL #H = B i & # # B &
Bifh
m3 1.000 127.9 127.9
= 5 YEZ¥EREN :1.00m 3 127.9 127.9
E =)
2. NNER XLy
% E7 R - BIRTiE BAGL #H = B i & # & B =
S
A 30. 00 15, 500. 00 465, 000
AR 2RD%
% 0.50 465, 000. 00 2,325
= 5 1YE%HeH - 1.00K 467, 325. 00 467, 325
ES:6
& R RNNYVEH XLy
% 7 R - BIRTE BAGL #H = B i & # # B =
BEXX /Ny VERH
B 54. 00 9,720.00 524, 880
= it 1YE%HeH - 1.00K 524, 880. 00 524, 880
B&S:7
L% BERX Ry vilE 154y
% E7 R - BIRTiE BAGL #H = B i & # & B =
HEE&
A 0.30 30, 160. 00 9, 048
LU
A 0.80 28, 080. 00 22,464
STTL—29L—y [hE®ES IR] | 16tRA
B 0.50 50, 500. 00 25, 250
AR 2RD%
% 5.00 56, 762. 00 2,838
= 5 1E%feh - 1.005& 59, 600. 00 59, 600
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%5 :8
& REFEZRER
% 5 R - AR R BAf H 2 =i £ W = B &
RBHFEEREB
A 30.00 14, 660. 00 439, 800
P PR 2EDY
% 0.50 439, 800. 00 2,199
= 5 1YE%HeH - 1.00K 441, 999. 00 441,999




